Best model for HELP_J142848.533+330702.945 at z = 1.648 )(2=0.31
OPTx?=0.39 IRx?=0.21 threshold (OPT IR)=21.18 [um]

102 +
E Stellar attenuated
----- Stellar unattenuated
101 4 —— Dust em‘iss‘ion
—— AGN emission
= Model spectrum
100 _ ® Model fluxes
M oObserved fluxes
E 10—1 4
S
e P, -\_"‘
= 10_2 4 H""’“’"\s\».\“
5 E et e,
[N
10—3 4
10—4 4
14 m
307> 5
q_— 1 3
= ] ==f=(Obs-Mod)/Obs
=} 1 L
% ] i d \ /
0 \ﬁ:‘
)] O+-=t+H+1+- e e e e Y ———
—_
) ]
2 ]
S ]
& 100 10! 102 103 104

Observed wavelength [um]



